### ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0243

## North Carolina Department of Transportation CONTRACT ID - D3POC0243 District 2 On Call Crack Sealing

## **PURCHASE ORDER CONTRACT BID FORM**

WBS Number: On-Call Various

Work Type: Sealing Existing Pavement Cracks on Various Routes in Duplin & Sampson Counties.

| ITEM | DESC         | SECT | DESCRIPTION   | QTY    | UNIT | UNIT PRICE | AMOUNT BID |  |
|------|--------------|------|---|--------|------|------------|------------|--|
| 1    | 1022000000-Е | SP   | SEALING EXISTING<br>PAVEMENT CRACKS<br>MULTI-LANE ROAD          | 30,000 | LBS  | 3.00       | 90,000 -   |  |
| 2    | 1022000000-Е | SP   | SEALING EXISTING<br>PAVEMENT CRACKS<br>TWO-LANE TWO-WAY<br>ROAD | 60,000 | LBS  | 2.88       | 172,800 -  |  |

| TOTAL BID FOR PROJECT: Two hundred Sixty-to                     | wo thousand eight hi |
|---|----------------------|
| 262,800-  |                      |
| CONTRACTOR Simmons Public Utility Site Work                     | Inc.                 |
| ADDRESS 112 Caldis St. 1P.O. Box 507 Whiteville                 | , NC 38472           |
| Federal Identification Number 04-3844948                        |                      |
| Contractor's License Number 81588                               |                      |
| Authorized Agent histopher G. Simmons Title President Signature | CORFORATE<br>SEAL    |
| Witness Wir Stissett Title Office MGR                           |                      |
| Signature Pierry Pierry Date                                    |                      |

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)

| D3POC0243   | T-2            | Duplin and Sampson Counties |
|---|----------------|-----------------------------|
| Name  |                |                             |
| Email   |                |                             |
| Phone   |                |                             |
|   |                |                             |
| THIS SECTION TO BE COMP.  This bid has been reviewed in accordance with | TRANSPORTATION |                             |
| Accepted by NCDOT   | MA             | Date 6/5/2025               |
| Accepted by NCDOT Bulk  | Le             | Date 6/5/25                 |

## ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0243

## North Carolina Department of Transportation CONTRACT ID - D3POC0243 District 2 On Call Crack Sealing

TOTAL BID FOR PROJECT:

# PURCHASE ORDER CONTRACT BID FORM

WBS Number: On-Call Various
Work Type: Sealing Existing Pavement Cracks on Various Routes in Duplin
& Sampson Counties.

| ITEM | DESC         | SECT | DESCRIPTION   | QTY    | UNIT | UNIT PRICE | AMOUNT BID |
|------|--------------|------|---|--------|------|------------|------------|
| 1    | 1022000000-Е | SP   | SEALING EXISTING<br>PAVEMENT CRACKS<br>MULTI-LANE ROAD          | 30,000 | LBS  | 2.49       | 74700.00   |
| 2    | 1022000000-Е | SP   | SEALING EXISTING<br>PAVEMENT CRACKS<br>TWO-LANE TWO-WAY<br>ROAD | 60,000 | LBS  | 2.5%       | 155400.00  |

# CONTRACTOR Remac Inc Doft Remac Asphalt Munterary ADDRESS 20103 Governor Harrison Pkwy Freeman WA 2889. Federal Identification Number 20-479(0917) Contractor's License Number 6354 Authorized Agent Dennis Roberts Title President Signature Date 63335 Witness Sugar Roberts Title Secretary Signature Date 63355

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)

| D3POC0243   | T-2          | Duplin and Sampson Counties |
|---|--------------|-----------------------------|
| Name Michelle Clary   |              |                             |
| Email ( PMAS @ remacle  | S.WM         |                             |
| Phone 434 6342111   |              |                             |
|   |              |                             |
| THIS SECTION TO BE COMPLE  TR  This bid has been reviewed in accordance with Arti | ANSPORTATION |                             |
| Accepted by NCDOT   | MAS          | Date 6/5/2025               |
| Accepted by NCDOT Bul R   | e            | Date 6/5/25                 |

Date 6/5/25

## ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0243

## North Carolina Department of Transportation CONTRACT ID - D3POC0243 District 2 On Call Crack Sealing

# **PURCHASE ORDER CONTRACT BID FORM**

WBS Number: On-Call Various

Work Type: Sealing Existing Pavement Cracks on Various Routes in Duplin & Sampson Counties.

| ITEM | DESC         | SECT | DESCRIPTION   | QTY    | UNIT | UNIT PRICE | AMOUNT BID  | 1 |
|------|--------------|------|---|--------|------|------------|-------------|---|
| 1    | 1022000000-Е | SP   | SEALING EXISTING<br>PAVEMENT CRACKS<br>MULTI-LANE ROAD          | 30,000 | LBS  | 2.25       | \$ 67500.00 | L |
| 2    | 1022000000-Е | SP   | SEALING EXISTING<br>PAVEMENT CRACKS<br>TWO-LANE TWO-WAY<br>ROAD | 60,000 | LBS  | 2.25       | \$135000.00 |   |

# TOTAL BID FOR PROJECT: \$ 202500.00

| CONTRACTOR GURSON COMPANY INC.  |                              |
|---|------------------------------|
| ADDRESS 105 KAYLAN IN   |                              |
| Federal Identification Number 20-8129972  |                              |
| Contractor's License Number $\mathcal{N}$   |                              |
| Authorized Agent Exercise M GORDON Title PRESIDENT  Signature Guille 24 Coul Date 6-03-2025 | ON COMPANY<br>OF SORPORATE A |
| Witness Fletcher West Kins Title V-D  | STAL NIJO                    |
| Signature   | NORTH                        |

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)

Phone 336 - 382 - 2536

# THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Accepted by NCDOT Ball Ke Date 6/5/25